SAUMA

EEEEEEEEEEEEE

INSTALLATION
MANUAL

(]
(7))
o
£
o
c
=]
2
>

PRODUCT NAME: DIGITAL DOOR LOCK

Product Applied:BM600/ BM610




SAUMA

GERMAN TECHNIK

Digital door lock
Model BM600 / BM610

)

BM600

Version 1.0

DECLARATION: THE PRODUCT FOLLOWS THE STRATEGY OF SUSTAINABLE
DEVELOPMENT. THE COMPANY RESERVES THE RIGHT TO MODIFY AND
IMPROVE THE PRODUCT WITHOUT PRIOR NOTICE.



Q.

X

Read before using

Product features 1

N

Product specification - exterior trim

Product specification - interior trim 3

How to use
Open & lock the door 4
Service features 5

Reverse lever handle 6
Install spindle, spindle spring and mortise 7
Preparation before installation (for big mortise 60x68) 8
Install the trim (for small mortise 50x50) 9

Install the trim (for big mortise 60x68) 10




Read before using

0 Product features

No | ltems Sub-items Specification
1 *Fingerprint Capacity: 3 masters +97 user.
2 Password Capacity: 3 masters +47 user.
3 | Unlock way | Card Capacity: 3 masters +47 user.
4 Mechanical key 2 Keys
5 Other Zigbee - App Hafele Smart Living
6 Working voltage 4 pieces of 1.5V AA alkaline battery
7 Battery life Over 10,000 times under normal usage
—— Power
8 | supply Low volltage alarm <48V
9 Back-up power supply| 5V Micro-USB
10 Quiescent current < 45UA
—— Power
11 | consumption| Dynamic current < 200mA
12 Scanning area 13
13 Resolution 508dpi
14 Responding speed < 0,5 seconds
15 Working temperature | -200C ~ 700C
16| « Fingerprint Relative humidity 20% ~ 95%
17 | sensor FRR <0,1%
18 FAR < 0,001%
19 Fingerprint sensor Semi-conductor
20 Comparison mode 1:N
21 Antistatic ability < air+15KV / contact 8KV
9o | Auxiliary Unlock record 999 pieces
Function
Small mortise 50X50 | 35-60mm
23 | Door
Thickness | Big mortise 60x68 38-60mm

Note: *Fingerprint unlock way is available for model BM610 only, please confirm
the product model you purchased.




Read before using

Q Product specification - exterior trim

161(Installation Hole Distance)

0 =]
~| ©
IS
l: < Speaker hole
OB
‘ " Micro USB back-up
Cylinder power supply socket
]
C
OLED Display T S
Connecting Cable %
Touch Keypad O E
Card Reader Area S
(Between 5 and 8) % ?@ E
© ©
o *Fingerprint Sensor 7]
& £
< (@ N Ga— Loy ML
© o 3
Lever Handle
Reversing Switch
(e}
— =
AG9.6
A151.6
Front Side of Exterior Trim Back Side of Exterior Trim
Note:

1. AThe overall dimension above includes silicon pad.
2.*Fingerprint Sensor is only for model BM610 (Please confirm the product model
and accessories you purchased).




Read before using

0 Product specification - interior trim

26.5

Ell |

Installation Screw Hole

fa—
(&
BAUMA H |” E Q,
Reset Button
Battery Cover 7 ‘ 0 Cable Connecting Socket
= H ’ M Battery Case @ jﬁ
i e = 2| Handle Fixing Screw
™~ g \
5 <( )) kN B
Interior Handle
| Slide Plate of Privacy Turn
Privacy Turn @
Slide Plate Fixing Screw
Installation Screw Hole o
65
149.3
Front Side of Interior Trim Back Side of Interior Trim




How to use

Q Open & lock the door

How to open the door from outside

Fingerprint Password Card

(only BM610) 1.Place the enrolled
1.Place the 2 3| 1. Touch keypad by T2 %) cad properly

enrolled s e| paim to lighten 4 % 8] petween number

T’ finger properly on |, keypad. 7 | 5ands.
@?_vé.? the fingerprint W\ 2.Enter the gnrolled o 2 Press down handle
sensor area. password with end to open the door.
2.Press down of “2 .
handle 3. Press down handle
to open the door. to open the door.

Anti-spy coding function

The random number can be added before or after the real user password but the
maximum length is 16 digits. This feature will prevent the real user password from
being exposed.

Usage of Mechanical Key
Insert the key into the key hole at bottom of Exterior
Trim and turn it with proper angle to unlock the cylinder,

then press down the handle to open the door.

v

Do not press down the handle while rotating the mechanical key, otherwise, this
incorrect operation may get the lock broken. Always rotate the mechanical key first,
then press down the handle to open the door.

How to lock the door = How to open the door from inside

}

Pull up exterior or Press down interior
1 interior handle to handle to open the
let the dead bolts door.
@ come out. B




How to use

0 Service features

Restore to factory default settings

Operation instructions :

Reset 1.0pen battery cover and find the reset button.

button 2.Press the reset button and keep pressing “ <<l” on touch

keypad to reset the system.

3.After that all user data and settings will be deleted.

Low power warning and battery replacement

When the battery is lower than 4.8V, there is low power warning signal will appear
on the screen. Please replace all batteries immediately. Make sure the battery is
installed correctly according to the positive and negative pole.

Emergence power supply

When the battery is too low or completely dead and
the lock cannot be opened from ourside by inputting
master/user identification, connect a 5V power
supply via micro USB port at the bottom of exterior
trim. Then unlock the door with master/user
identification and replace all batteries immediately.

Privacy mode When door is closed, slide privacy button upward to switch
on privacy mode.
When the privacy is turned on, only master identifications
: and mechanical key can open the door from outside. User
identifications is prohibited.

1 A CAUTION

1.If passage mode is turned on, it will be turned off automatically
when privacy mode switched on.

\ 2.Please refer to OPERATION MANUAL for the advance setting
of passage mode.




How to install

Q Reverse lever handle

Reverse exterior lever handle

There are two reversing switch on the back of exterior plate. When you want to reverse the
lever handle to the other side, push the reversing switch that on the same side of the lever
handle outward, and then turn the lever handle 180° from downward at the same time.
Release the reversing switch and the reversing process of exterior lever handle is done!

A CAUTION

Make sure the lock (cylinder) is locked and pull out the mechanical key before reversing
the lever handle.

Right Open Left Open

Reverse interior lever handle

1. Remove Screw 1. Take out the slide plate and turn it around (refer to Diagram 1 and
Diagram 2 for left-hand or right-hand open), and then fix the Slide Plate by Screw 1.

2. Remove Screw 2. Take out the lever handle and reverse it to the opposite side (refer to
Diagram 1 and Diagram 2 for left hand or right hand open), and then fix the lever handle by
Screw 2.

[T

oI

Back Side of Interior Trim Back Side of Interior Trim
for Right Open (Diagram 1)  for Left Open (Diagram 2)




How to install

Q Install spindle and spindle spring

1. Put Side A of Spindle into Rotor.

2. Put Spindle Spring over the spindle through
Side B.

(please refer to the right Diagram).

0 Install the mortise

1. Bore holes on door according to the template provided.

2. Install the mortise into the bored hole on door, and fix it by screws.
Note: Please install according to product accessories.

SRRV

Big mortise 60x68 Small mortise 50x50




How to install

Q Preparation before installation (for big mortise 60x68)

A CAUTION

If you buy the lock with big mortise 60x68mm, please follow below preparation before
installationof the trims.

Preparation of exterior trim (for big mortise 60x68)

Please install Square Neck Screw on Exterior Trim according to below:
1. Screw 2/3 part of the Screw Bolt into Square Neck Screw.

2. Insert Square Neck Screw into guide channel on Exterior Trim.

3. Twist Screw Bolt tightly to fix Square Neck Screw on Exterior Trim.
(Please refer to diagram 1)

(Note: For small mortise 50x50, there is no need to install Square Neck Screw, please
confirm the product model and accessories you purchase.)

Screw Bolt
Square Neck Screw

Guide Channel for Square Neck Screw

Diagram 1




How to install

Q Install the trim (for small mortise 50x50)

1. Fix Screw Bolt on protruded screw of
Exterior Trim.

2. Install Spindle and Spindle Spring on
Exterior Trim (please refer to page 7 for more
details about the installation steps of spindle
and spindle spring).

3. Fix Base Plate with Exterior Trim by M4*45
Screw.

4. Install Interior Trim and fix it by M4*14
Screw.

o
AN

Bl A

Name

Exterior Trim

Screw Bolt

Spindle

Spindle Spring

Small mortise 50x50

Base Plate (silicone rubber included)

M4*45 Screw

Interior Trim

M4*14 Screw

l—|zleom|mlolo|o|>|&§

Battery Cover

_\Q)_\[\)_\_\_\_\l\)_\g




How to install

0 Install the trim(for big mortise 60x68)

1. Fix Screw Bolt on protruded screw of
Exterior Trim.(refer to "Preparation of
exterior trim for big mortise 60x68").

2. Install Spindle and Spindle Spring on
Exterior Trim (please refer to page 7 for
more details about the installation steps
of spindle and spindle spring).

3. Fix Base Plate with Exterior Trim by
M4*45 Screw.

4. Install Interior Trim and fix it by M4*14
Screw.

Name

=4
<

Exterior Trim

Square Neck Screw

Screw Bolt

Spindle

Spindle Spring

Big mortise 60x68

Base Plate (siicone rubber included)

M4*45 Screw

Interior Trim

M4*14 Screw

~|<|—|T|e|m|moo|w|>|Z

Battery Cover

N P N Y 1) N N N YR PN N )




SAUMA

EEEEEEEEEEEEE

HUGNG DAN
LAP DAT

(]
(7))
o
£
o
c
=]
2
>

TEN SAN PHAM: KHOA PIEN TU

Cac ma san pham ap dung: BM600/ BM610




SAUMA

GERMAN TECHNIK

Khoa dién tu
BM600 / BM610

)

BM600

Phién ban 1.0

SAN PHAM SAN XUAT DUA THEO CHIEN LUQC PHAT TRIEN BEN VUNG.
CONG TY CO QUYEN SUA BOI VA CAI TIEN SAN PHAM MA KHONG CAN
THONG BAO TRUCGC.



<

Oi dun

Thong tin can biét

Dac tinh san pham 1

N

Thong s6 san pham - Mat ngoai khoa

Thong s6 san pham - Mat trong khoa 3

Hudng dan st dung

M& & khoa cla 4

Tinh nang dich vu 5

Hudng dan lap dat

Dao chiéu tay nam 6
Lap truc tay nam, 1o xo va than khoa 7
Chudn bi trude khi lap dat (than khoa [6n 60x68) 8
Lap dat khda déi voi than khoa nhd 50x50 9

Lap dat khoa déi vai than khoa I6n 60x68 10




Théng tin can biét

0 Pac tinh san pham

STT| Muc Phu muc Thong so6 ky thuat
1 *Van tay Dung luong: 3 van tay chi + 97 van tay ngudi dung.
T Mat khau Dung luong: 3 méat khéu chti + 47 mat khdu ngudi dung.
T Cach mé Thé Dung luong: 3 thé cha + 47 thé ngudi dung.
[ 4 | Khoa Chia khoa co 2 chia co
T Khac Zigbee - Ung dung Hafele Smart Living
6 bién ap hoat dong 4 Pin alkaline 1,5V AA
Z Nguén dién Thdi gian st dung pin | Trén 10.000 lan trong diéu kién st dung binh thudng
8 Canh bao dién ap théap| < 4,8V
T Nguén dién du phong | 5V Micro-USB
ﬂ Tiéu thu Dong tinh < 45UA
11 | dién Dong dong < 200mA
12 Pham vi quét 13
? Do phan giai 508dpi
7 Téc dd phan hoi < 0,5 giay
? Nhiét dé hoat dong -200C ~ 700C
E * cam bién | P° dm tuong déi 20% ~ 95%
17 | van tay FRR <0,1%
? FAR <0,001%
? Cam bién van tay Ban dan
2_0 Ché do dai chiéu 1:N
[ 21] Kha nang chéng tinh dien | < Khong khi 15KV / tiép xtc 8KV
22 | Chdenang | o o4 mg khoa 999 Ian m& gén nhét
phu trg
23 | po day ciia Small mortise 50X50 | 35-60mm
Big mortise 60x68 38-60mm
Ghi cha: * Van tay chi co6 trén Model BM610, vui Iong xac nhan san phdm da mua.




Théng tin can biét

Q Thong s6 san pham - Mat ngoai khoa

A75.1

Rudt khéa co

Loa

& cam ngudn du phong Micro USB

Man hinh OLED T =

— o

Cap két néi ,,i(%

Ban phim cam (ng ]7 ©

e
Khu vuc doc thé | % —
(Gitia s6 5&8) % L ) ;(g.
<o) R . ~ “© o
o *Cam bién van tay 2| ®
Q | ©
« (@ N (= ¢ =g
© © ( — ®
&
Tay ndam ngoai g
<
Cong tac dao ©

chiéu tay nam
o
__ )
AG9.6
A151.6
Mat ngoai khoa - Mat trucc Mat ngoai khoa - Mat sau
Ghi chi:

1. AKich thudc téng thé néu trén tinh ca kich thudc miéng dém silicon.
2.*Van tay chi co trén Model BM610, vui long xac nhan san phém da mua.




Théng tin can biét

0 Thong s6 san pham - Mat trong khoa

Nap day pin

L6 bat vit

BAUMA gl_‘ ;‘ﬂ
PRY

ut

Ho

p lap pin

— Y

27.7

(¢

&/

Tay nam trong

Cong tac ché do rieng tu

L6 bat vit

N,

285

65

149.3

Mat trong khoa - Mat trusc

E Q
thiét lap lai
Cong két néi cap
L

Vit ¢6 dinh tay ndm

/IS D

| LAy cong tac riéng tu

Vit ¢6 dinh lay cong tac

Mat trong khoa - Mat sau




Huéng dan st dung
Q Mé & khoa clia

Huéng dan maé clia tir bén ngoai

Van tay Mat khdu Thé
(Chi c6 trén BM610)
1. Pat dang ngon tay | - : : 1Dinglong bantay : z : 1. Dat thé da dang ky
da dang ky trén vang cham vao ban phim dé dung gitia
© T’ cam bién van tay. 8 °| banphimsang len. 7 ¢ s65vasss. i
=TT 2. An tay ném xuéng '¢ 3 2.Nhap mat khau da d 2.~An tay ndm xuéng
dé maé cuia. dang ky réi &n nit <2 dé mé cla.
3.An tay ndm xuéng
dé mé clia.

Chuc nang ma ngau nhién chéng nhin trom

Co thé thém s6 ngau nhién vao trudc hoac sau mat khau khach thuc voi
do dai téi dala 16 char sé.

Tinh nang nay nham khong dé 16 mat khau khach thuc.

Huéng dan st dung chia khéa co
Pua chia khoa co vao 16 chia khoa ¢ phia dudi ctia mat
ngoai khoa réi xoay chia mét goc thich hop dé mé, sau do
an tay nam xuéng dé mé cla.

7

Khéng &n tay cdm trong khi xoay chia khéa dé tranh lam héng khoa. Luén xoay chia khéa trudc
va &n tay cdm sau dé mé clia.

Hudng dan khoéa ctia Huéng dan ma clia tir bén trong

}

Nang tay nam bén Gat tay nam bén trong
1 ngoai hoac bén trong xuéng dé maé cla.
|én dé déy chét
@ ¢6 dinh ra ngoai B




Huéng dan st dung

0 Tinh nang dich vu

Khoéi phuc cai dat mac dinh

Hudéng dan thuc hién:

1. M6 nép day pin va tim nut thiét 1ap lai.
2. Nhan nut thiét lap lai va tiép tuc nhan
trén ban phim cam ting dé thiét lap lai hé théng.

3. Sau do, tat ca di liéu ngudi dung va cai dat sé bi xéa.

Cénh bao Pin yéu va thay pin

Khi nguén dién clia pin dudi 4,8V, man hinh sé hién thi tin hiéu canh bao Pin yéu.
Vui long thay tat ca pin ngay lap tic. Dam bao lap pin dung cuc duong va am.

Nguén dién khén cédp

Khi pin xuéng muic qué thdp hoac hét hoan toan va khong thé
ma khoa tir bén ngoai bang cac nhap xac thuc chii/ngudi dung,
két ndi voi mot nguodn dién 5V thong qua céng micro USB & phia
dudi clia mat ngoai khda. Sau dé6 md clia bang xac thuc
chl/ngudi dung va thay ngay toan bé pin.

Ché do riéng tu Khi clta dong, trugt cong tac riéng tu 1én trén dé bat ché do riéng tu.
Sau khi bat ché do riéng tu, chi coé xac thuc chi nha va chia khoa
co mdéi md dudc cla tir bén ngoai. Khong thé dung xac thuc

: ngusi dung dé mé.
1 A LUUY

1. Khoa sé tu dong tat ché do luon mé khi kich hoat ché do riéng tu.
2. Vui long tham khao huéng dan st dung dé biét trudc cach
\ cai dat ché do luen ma.




Huéng dan lap dat

Q DPao chiéu tay nam

Pao chiéu tay ndm mat ngoai khoa

Co6 hai cong tac dao chiéu ¢ sau mat sau clia mat ngoai khéa. Khi ngudi ding muén dao
chiéu tay nam vé phia bén kia, dn cong tac dao chiéu vé cung hudng véi tay nam, cung lic
do xoay tay nam 1800 theo hudng tur trén xudéng. B tay ra khoi cong tac déo chiéu va két
thuc qua trinh déo chiéu tay nam bén ngoai!

Bam béo khoa ¢ trang thai khoa va rut chia co ra trudc khi ddo chiéu tay nam.

Cla md& phai Clia md trai

Pao chiéu tay nam mat trong khoda

1.Thao Vit s6 1. Léy lay cong téc riéng tu ra ngoai va xoay nguac lai (tham khao hinh 1 va
hinh 2 cho ctra mé trai hoac ma phai), sau do cé dinh lay cong tac bang vit s6 1.

2.Thao Vit 2. Thao roi tay ndam mat trong va xoay hudng nguac lai (tham khao hinh 1 va
hinh 2 cho clra mé trai hoac ma phai), sau do cé dinh tay nam mat trong bang vit s6 2.

[T

oI

Mat sau ciia mat trong khéa Mat sau cia mat trong khoa
Cho clia mé& phai (Hinh 1) Cho clia mé trai (Hinh 2)




Huéng dan lap dat

0 Lap truc tay nam va 1o xo

1. Bat dau A cua truc tay nam vao Rotor.
2. Xuyén Lo xo qua truc tay nam qua déu B.
(tham khao hinh bén phai).

@ Lip than knoa

1. Khoan cac 16 trén mat cuia theo td rap dinh kem
2. Lap than khoa vao 16 khoan trén cuia réi c6 dinh bang vit
Ghi chu: Lap theo cac phu kién di kém san pham

o2 o=

Than khoa I6n 60x68 Than khda nhd 50x50




Huéng dan lap dat

Q Chudn bi trudc khi Iap dat (than khoa 16n 60x68)

D3 vai khda co than khoa 16n 60x68mm, vui long chudn bi theo cac budc bén dudi trudc
khi lap khoa.

Chuén bi mat ngoai khoa (cho than khoa 16n 60x68)

Lap Vit ¢ vuodng trén mat ngoai khda theo chi dan dudi day:

1. Van 2/3 Buléng vao Vit ¢8 vuong.

2. Lap Vit ¢ vudng vao ranh dan hudng trén mat ngoai khoa.

3. Van chat Bulong dé c6 dinh Vit ¢d vudng trén mat ngoai khoa. (tham khao hinh 1)

(Ghi cha: Trudng hop than khoa nhé 50x50 khong can lap Vit ¢6 vuodng, khach hang vui long
xac nhan san phdm va phu kién da mua.)

3 Bu léng
Vit c6 vudbng

Ranh dan hudéng cho vit ¢d vuéng

Hinh 1




Huéng dan lap dat

@ Lép dat khoa déi véi than khoa nhé 50x50

[=s
©
i
‘m

1. C6 dinh bu 16ng trén vit nho ra cliia mat ngoai
khoa

2. Lap truc tay nam va lo xo trén mat ngoai
khoa (tham khéo trang 7 dé biét thém chi tiét vé
cac budc lap truc tay nam va lo xo.

3. Dung vit M4 * 45 dé c6 dinh tdm 16t voi mat
ngoai khoa.

4. Dung Vit M4 * 14 dé lap va c6 dinh mat trong
khoa 1én tam lot.

=]

Bl A

(7]
=+

Tén

2]

Mat ngoai khoa

Bu l6ng

Truc tay nam

Lo xo

Than khda nhd 50x50

Tam 6t (bao gém dé silicone)

Vit M4*45

Mat trong khoa

Vit M4*14

S =T (@ |Tm|m|o |0 |m|>

Nap day pin

alwlalnalalalain—




Huéng dan lap dat

Q L&p dat khéa déi voi than khoa 16n 60x68

1. C6 dinh Buléng trén vit nho ra ctia mat
ngoai khoa. (Tham khao phéan " Chuén bi
mat ngoai khéa cho than khoa l6n 60x68").
2. Lap truc tay nam va 1o xo trén mat ngoai
khoa (tham khao trang 7 dé biét them chi
tiét vé cac budc lap truc tay nam va 1o xo).
3. Dung vit M4 * 45 dé ¢ dinh tdm 16t véi
mat ngoai khoa.

4. Dung Vit M4 * 14 dé I&p va c6 dinh mat
trong khoa véi tam lét.

Tén

@

Mat ngoai khda

Vit ¢6 vuodng

Bu léng

Truc tay nam

Lo xo

Than khoa I6n 60x68

Tam 16t (bao gém d silicone)

Vit M4*45

Mat trong khoa

Vit M4*14

x|e|—|T|e|n|jm|o|o|w|>|2

Nap day pin

AW WIN =W N—




SAUMA

GERMAN TECHNIK

www.bauma.vn

HAFELE

Nha phan phéi déc quyén
cua BAUMA tai Viét Nam

Héfele VN LLC.
3rd Floor, REE Tower
9 Doan Van Bo Street,
District 4, Ho Chi Minh City
Phone: (+84 28) 39 113 113
Email: info@hafele.com.vn

HAFELE
E 1800 1797
TOLL FREE/ GOI MIEN PHI





